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2018 March New Cisco 640-878 Exam Dumps with PDF and VV CE Free Updated Today! Following are some new 640-878 Red
Exam Questions:1.]2018 L atest 640-878 Exam Dumps (PDF & VCE) 140Q&As Download:
https://www.braindump2go.com/640-878.html2.|2018 L atest 640-878 Exam Questions & Answers Download:
https://drive.google.com/drive/folders/OB75b5xY LjSSNVm1SM FBqbjl zbEU2usp=sharing QUESTION 32Which four statements
about REP configurations on a Cisco ME 3400 switch port are true? (Choose four.)A. The port must be an NNI type and must be
intrunk mode.B. Use the rep segment number command to enable REP on the switch port.C. A REP segment cannot be wrapped
into aring topology. REP supports only atopology where each REP segment has two exit points viatwo edge switches.D. The
port where the segment terminates is called the edge port.E.  With REP, at least one port is aways blocked in any given
segment-that is, the alternate port.F.  If afailure occurs within the segment, the blocked port goes to the forwarding state after it
goes through the listening state and the learning state. Answer: ABDEQUESTION 33A VLAN isalogical grouping of switch ports
that belong to which two of these? (Choose two.)A. the same virtual switch clusterB. the same IP subnetC. the same collision
domainD. the same broadcast domainE. the same virtual routing and forwarding instanceAnswer: BDQUESTION 34Refer to the
exhibit. Which statement istrue? A.  VLAN 1 traffic is sent untagged on the fa0/11 trunk port.B. All VLANSstraffic, including
the native VLAN traffic, istagged with aVLAN ID when it is sent over the fa0/11 trunk port.C. The switchport trunk allowed vlan
command is not configured; therefore, no VLANSs are allowed on the trunk.D.  The encapsulation type that is used is 802.1ad.E.
The switchport trunk native vian command is not configured; therefore, the trunk is not operational. Answer: AQUESTION 35Refer
to the partial configurations exhibit. What additional configurations are required to enable inter-VLAN routing for VLANs 10 and
20 on the Cisco ME 3400 switch using the metro IP accessimage? A.  interface Fa0/1ip address 192.168.10.1 255.255.255.0!
interface Fa0/2ip address 192.168.20.1 255.255.255.0!B.  interface Fa0/1ip address 192.168.10.1 255.255.255.0!interface Fa0/2ip
address 192.168.20.1 255.255.255.0!router eigrp 1network 192.168.10.0network 192.168.20.0!C. interface vlan 10ip address
192.168.10.1 255.255.255.0!interface vlian 20ip address 192.168.20.1 255.255.255.0!D.  interface Fa0/lencapsulation dot1q 10ip
address 192.168.10.1 255.255.255.0!interface Fa0/2encapsul ation dot1q 20ip address 192.168.20.1 255.255.255.0! Answer:
CQUESTION 36Refer to the topology diagram in the exhibit. Which two interface configuration commands on the Cisco ME
3400-1 switch Fa 0/1 interface are required to support the VLANSs for Customer A to be trunked across the service provider
network? (Choose two.) A.  switchport access vlan 30B.  switchport mode trunkC.  switchport mode dot1g-tunnelD.  switchport
trunk allowed vlan 1-100Answer: ACQUESTION 37Which IPv6 address block is reserved for 6to4 tunneling?A.  2000::/16B.
2001::/16C. 2002::/16D. 3ffe::/16E. feB80::/16Answer: CQUESTION 38When upgrading a Cisco ASR 1001 Router, when is
the regquest platform software package expand file bootflash:image-name command required?A.  to copy the consolidated Cisco
|OS XE image to the bootflash:B.  to perform Cisco 10S 1SSU on the standby route processor C.  to run the router using a
consolidated packageD. to run the router using individual subpackagesAnswer: DQUESTION 39Which Cisco router platform
supports running either the Cisco 10S or |OS XR operating system?A. Cisco CRSB. Cisco ASR9KC. Cisco ASR1IKD. Cisco
ISR-G2E. Cisco 12000 GSRAnswer: EQUESTION 40Y ou want to configure HSRP between a Cisco 10S and a Cisco |0S XR
router for the 192.0.2.0/24 subnet. Half of the PCs on the 192.0.2.0/24 subnet are configured to use 192.0.2.1 as the default gateway,
and the other half of the PCs are configured to use 192.0.2.254 as the default gateway. The intent isto load balance the traffic across
both routers.Which two 10S and 10S XR configurations are needed? (Choose two.)A. ! I0OS-XRinterface GigabitEthernet 0/0/0/0
ip address 192.0.2.3 255.255.255.0router hsrpinterface GigabitEthernet 0/0/0/Ohsrp 1 ipv4 192.0.2.1hsrp 1 priority 95hsrp 1 preempt
hsrp 2 ipv4 192.0.2.254hsrp 2 priority 105hsrp 2 preemptB. | I0OS-XRinterface GigabitEthernet 0/0/0/0ip address 192.0.2.1
255.255.255.0router hsrpinterface GigabitEthernet 0/0/0/Ohsrp 1 ipv4 192.0.2.1hsrp 1 priority 99hsrp 1 preempthsrp 2 ipv4
192.0.2.254hsrp 2 priority 101lhsrp 2 preemptC. ! |OS-XRinterface GigabitEthernet 0/0/0/0ip address 192.0.2.3 255.255.255.0
router hsrpinterface GigabitEthernet 0/0/0/Ohsrp 1 ipv4 192.0.2.1hsrp 1 priority 1hsrp 1 preempthsrp 2 ipv4 192.0.2.254hsrp 2
priority 1hsrp 2 preemptD. ! |OSinterface GigabitEthernet 0/0ip address 192.0.2.2 255.255.255.0standby 1 ip 192.0.2.1standby 1
priority 105standby 1 preemptstandby 2 ip 192.0.2.254standby 2 priority 95standby 2 preemptE. ! 1OSinterface GigabitEthernet
0/0ip address 192.0.2.254 255.255.255.0standby 1 ip 192.0.2.1standby 1 preemptstandby 2 ip 192.0.2.254standby 2 preemptF. !

| OSinterface GigabitEthernet 0/0ip address 192.0.2.2 255.255.255.0standby 1 ip 192.0.2.1standby 1 preemptstandby 1 priority 2
standby 2 ip 192.0.2.254standby 2 preemptstandby 2 priority 2Answer: ADQUESTION 410n Cisco 10S XR software, which two of
the address-family command optionsin IS-IS configuration mode are valid? (Choose two)A. address-family clnsB.

address-family ipv4 unicastC. address-family ipv6 unicastD. address-family vpnv4E. address-family vpnv6Answer:
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BCQUESTION 420n Cisco routers, the address-family configuration command in BGP configuration mode is used to enable which
BGP feature?A. BGP route policyB. multiprotocol BGPC. BGP policy accountingD. BGP communitiesAnswer: B
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